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Jan. 2021 Exam Review

Which pairs of angles are equal in this diagram?

a. b¥e.c=handd=g
b. b#a.c=e.,andd=f
c. h=c.e#g. andf=h
d bh=flc=g.andd=h

Which are the correct measures for <YXZ and <XZ}?
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Fy
f

4
<YXZ =320, <XZY < 77°
<YXZ= ng <XZY=387° i
<¥YXZ=62°, <XZY =177°
<YXZ = 62°, <XZY = 87°

oo o

w
Determine the sum of the measures of the interior angles of this polygon.
1080° cgott\‘@ \ BNCTIS
1260° )=\ N

16200 S8 sol&

1440° g (\V) ?

oo oe

Each interior angle of a régular convex polygon measures 144°,

d}w many sides does the polygon have?
a

. 10
b. 11
c. 8
d 9

Each interior angle of a regular convex polygon measures 162°.
How many sides does the polygon have?

a. 16
b. 19
c.\ 18

@20

. The sum of the measures of the interior angles of a convex polygon is S.

Which expression results in the number of sides of the polygons?

a. S+2
180°

b. &

a0 2



@ 180°(5- 2)
5

d. 180°(S-2)

& 7. What information do you need to know about an acute triangle to use the sine law?
two angles and any side
© two sides and any angle
c. all the angles
d. all the sides

A Qel mine the length of KL to the nearest centimetre. J

27 cm
26 cm 57°¢
c. 34cm 26 cm 30 cm
d. 33 cm
K L

9. Determine the length of PQ to the nearest tenth of a centimetre.

a. 9.4 cm
b. 9.1 ecm
8.5¢cm 83cm

R‘SScm

Dctermme the measure of f'to the nearest tenth of a ccntlmc

17.0 cm
16.4 cm 26“""
16.6 cm

d. 16.8 cm

A ___......._....-——-/
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E) 10. In<DEF.d=13.5cm.e=18.2 cm, and <F = 60°. R 22 Q

11. In<LMN.[=27.0cm.m=231.4cm, and <N = §2°.
Determine the measure of » to the nearest tenth of a centimetre.

39.0 cm
38.5cm CQj,[)u‘"’
39.5¢cm

d. 38.0cm ,\{

| 12. In<DEF,d=23.9cm,e=16.8 cm, and f=27.0 cm.
Determine the measure of </ to the nearest degree.
a. 82° #, e
e d*-f
b. 80° cosF = —é\;
e

. 83°
81°




g , 13. How you would determine the indicated angle measure, if it is possible?
a. the sine law

b\. . not possible 74 cm
@primar}_f trigonometric ratios
7 the cosine law 0
_BQ) 14. How long,. to the nearest inch. is the left rafter in the roof shown? 54 cm
e r 42.5
a. 30°6 \(a-fe\'»(.f - \________
- - rafter rafter
b )31'6" ekl Sk
. 31°
d. 30° 50° 46°

43’6”

(__,15. Which law could you use to determine the unknown angle in this triangle?
a. neither the sine law nor the cosine law
b. the cosine law only
@ the sine law and the cosine law
- the sine law only

54cm

E)_ 16. Which would you use to determine the indicated angle measure?

2, primary trigonometric ratios
@lhe sine law only

7 the cosine law only
d. the sine law or the cosine law

. 98°
b. 100°

@ 102°
. cannot be determined




C 18. Determine the indicated side length to the nearest tenth of a metre.

a. 6.2m 12°

b, 9.6m X

g?uMm

. cannot be determined
20°
4.1 m
D 19. Determine the indicated angle measure to the nearest degree. 15 mn{;

2 2 2.

a. 40° cosc= O Y- ¢

b. 42° 7 2o 25 mm

_44° 33mm
or

‘6_ 20. Which test point is in the solution set for the linear inequality
{x, )| 7x+5vy 20,x € I,y € 1}?

a._ (2,2)
b/ (-1, -1)
(11
d. (2,-2)

D 21. Identify the point of intersection for the following system of linear inequalities.
iyv22+x,x+y20,x €e R,y € R}

a. (1.-1) Za+X  x+y=0
by, (3,-3) d X <=
& (3,3) o

@(-1.1)

Q_ 22. The following model represents an optimization problem. Determine the maximum solution.
Restrictions: = Pu 02
SeR (= 4-26 G7E203)
verR 7,4 +d (= €+
Constraints: G s % C? |

xz4

x-y <12 /f o 7.—-20)
x+3y £24 éf":’{""gﬂf“g) {iﬁ" }i’

Objective function: (_7 = ¢ Ho C7 =

G=x-2y e



_{q_ 23.

Ao

118 = gevple sa Q
b. 136 e ' f:\‘r-\‘l- e —> IR
c. 160 ==Y azdp (R oL
d. 104 A 13\ =
5| 04s= Tp H4
Solve 25x* - 36 = 0 by factoring.
2 y=fx=f (5x-0)(5x10)
b. x=-6,x=5
c. x=6,x=-6
d yo5 o8
’ 67" i
Solve 1522 — 6 =z by factoring. | 1_.’.2_. - (0
a. 3 2
z= "5—._7:—5 6‘2 ’r?))('g?“'a)
b Lo 3,2 / o
S 3 52+3<0 32+
i P
i :=%,z=-§- S5e=-3 3%—9_/
< /3
d o _:‘E B E ?-v: -3/5' 2
- = ""5 P _3
%_ 26. Which set of data is correct for the quadratic relation f{x) = —2(x — 12)* + 15?
Direction parabola opens | Vertex Axis of Symmetry
A. downward (15.-12) x=15
B. downward (12, 15) x=12
C. | upward (—=12,15) x=-12
D. [ upward (15, 12) x=15
a. SetD.
b.) Set B.
C. SetA.

B

a. (4.-2)
b. (8.-2)

@ (4,-8)

(12.0)

Audrey notices the number of people and dogs in a dog park.

* There are more people than dogs.
* There are at least 12 dogs.

* There are no more than 40 people and dogs, in total.
« All the dogs have four legs and all the people have two legs.

@m is the maximum number of legs at the park?

d. SetC.

t[9|1](au1‘1ﬁ3l3“1’a



c

D

27. Which quadratic function represents this parabola?
a. flx)=-4(x+1.52+2
. fix)=4(x-1.5)?%-2
o) =4(x+ 1.5 -2 b i
7 fix)=4(x+ 1.5 +2 e |2 3 4
28. Solve 4x? + 4x — 5 = 0 using the quadratic formula. : |
* X = 1+M{E R I_AJE ___,lji: b-Llﬂk& 4
- 4 (G A
b 44446 4-4.06 X = ’i{;_*i ____ﬂé_.,_»_«f
X 7] . X 5 g [L{ )
¢ —4+4afs  -4-44/d =-4* O +e0
'Y = 2 W "' = 2 _ --.8_‘_'_'____.-—
x=@.x=“‘ﬁ x= -4 G
3

7
¥ =-|2{{
S 9. Solve 5x% + 3x + 1= 10 — 3x — 3x? using the quadratic formula. 8)47'-” QX = q oo )

A y= %.x= -é- X~ ‘bi\! b -Loc
b 3 ! 2
@ 3 3 2.(8)
Tt = -6t (304297
d. 3 3 o3
YTty X=-02§
¥
30. Solve —#* + 17h + 1 ==5h* + h — 16 using the quadratic formula.

d.
- 2
b.
h=
c. ME
h=-— Lh= 3
d. ﬁ ﬁ
= 5l =g"
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